8.6A HW

Monday, April 07, 2014 9:55 AM				
① no	2 yes	(3) X=8	() X=2	(۲) ×= -6,-۱
©×=3	() X=1	3 X= ±3	() ×= ۵, ۱	10 X=-6,2
1				



Practice

For use with pages 589-595

Determine whether the given *x*-value is a solution of the equation.

1.
$$\frac{4}{2x-3} + \frac{2}{x+4} = \frac{2x}{x^2-8}; x = \frac{3}{2}$$

 $\frac{4}{2(\frac{3}{2})-3} + \frac{2}{(\frac{3}{2})+4} = \frac{2(\frac{3}{2})}{(\frac{3}{2})^2-8}$
 $\frac{4}{3-2} + \frac{2}{\frac{11}{2}} = \frac{3}{\frac{9}{2}-8}$
Nol

2. $\frac{x}{x+4} - \frac{2}{x} = \frac{2x-8}{x^2}; x = 4$
 $\frac{4}{4+4} - \frac{2}{4} = \frac{2(4)-8}{4^2}$

 $\frac{4}{4+4} - \frac{2}{4} = \frac{2(4)-8}{4^2}$

 $\frac{4}{8} - \frac{4}{8} = \frac{0}{16} \Rightarrow \frac{0}{8} = \frac{0}{16}$

Solve the equation by cross multiplying. Check for extraneous solutions.

3.
$$\sum_{x \to -\infty}^{x \to -\infty} 2(x-3) = 1(x+2)$$

$$2(x-3) = 1(x+2)$$

$$2x-6 = x + 2$$

$$x = 8$$

5.
$$\frac{x}{3} = \frac{-2}{x+7}$$

$$x(x+7) = -6$$

$$x^{2} + 7x + 6 = 0$$

$$(x+6)(x+1) = 0$$

$$x + 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x - 1 = 0$$

$$x - 2 = 0$$

$$x -$$

4.
$$\frac{1}{x+5} = \frac{2}{7x}$$

 $1(7x) = 2(x+5)$
 $7x = 2x + 10$
 $5x = 10$
 $x = 2$
6.
$$\frac{2x+4}{5x} = \frac{2}{x}$$

 $2(2x+4) = 2(5x)$
 $2x^{2} + 4x = 10x$
 $2x^{2} - 6x = 0$
 $2x^{2} - 6x = 0$
 $2x(x-3) = 0$
 $x = 3$
8.
$$\frac{2x+3}{3x} = \frac{x}{2x-3}$$

 $(2x+3)(2x-3) = 3x(x)$
 $4x^{2} - 9 = 3x^{2}$
 $x^{2} - 9 = 0$
 $(x+3)(x-3) = 0$
 $x = -3$
 $x = 3$
10.
$$\frac{2x-6}{x-6} = \frac{x}{x+2}$$

 $(2x-6)(x+2) = x(x-6)$
 $2x^{2} - 2x - 12 = x^{2} - 6x$
 $x^{2} + 4x - 12 = 0$
 $(x+6)(x-2) = 0$
 $x = -6$
 $x = 3$